One-Sample Z: N100S10

Test of mu = 100 vs mu not = 100

The assumed sigma = 10

Variable          N      Mean     StDev   SE Mean

N100S10          50     97.42     10.22      1.41

Variable             95.0% CI            Z      P

N100S10       (   94.65,  100.19)    -1.83  0.068

One-Sample Z: N100S10

Test of mu = 101 vs mu not = 101

The assumed sigma = 10

Variable          N      Mean     StDev   SE Mean

N100S10          50     97.42     10.22      1.41

Variable             95.0% CI            Z      P

N100S10       (   94.65,  100.19)    -2.53  0.011

One-Sample Z: N98S10

Test of mu = 98 vs mu not = 98

The assumed sigma = 10

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.41

Variable             95.0% CI            Z      P

N98S10        (   92.28,   97.83)    -2.08  0.037

One-Sample Z: N98S10

Test of mu = 98 vs mu not = 98

The assumed sigma = 10

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.41

Variable             99.0% CI            Z      P

N98S10        (   91.41,   98.70)    -2.08  0.037

One-Sample Z: N98S10

Test of mu = 100 vs mu not = 100

The assumed sigma = 10

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.41

Variable             95.0% CI            Z      P

N98S10        (   92.28,   97.83)    -3.50  0.000

One-Sample Z: N98S10

Test of mu = 100 vs mu < 100

The assumed sigma = 10

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.41

Variable      95.0% Upper Bound        Z      P

N98S10                    97.38    -3.50  0.000

One-Sample Z: N98S10

Test of mu = 100 vs mu > 100

The assumed sigma = 10

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.41

Variable      95.0% Lower Bound        Z      P

N98S10                    92.73    -3.50  1.000

One-Sample T: N98S10

Test of mu = 100 vs mu not = 100

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.31

Variable             95.0% CI            T      P

N98S10        (   92.42,   97.69)    -3.77  0.000

One-Sample T: N98S10

Test of mu = 97 vs mu not = 97

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.31

Variable             95.0% CI            T      P

N98S10        (   92.42,   97.69)    -1.48  0.144

One-Sample Z: N98S10

Test of mu = 97 vs mu not = 97

The assumed sigma = 9.27

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.31

Variable             95.0% CI            Z      P

N98S10        (   92.48,   97.62)    -1.48  0.138

One-Sample Z: N98S10

Test of mu = 98 vs mu not = 98

The assumed sigma = 9.27

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.31

Variable             95.0% CI            Z      P

N98S10        (   92.48,   97.62)    -2.25  0.025

One-Sample T: N98S10

Test of mu = 98 vs mu not = 98

Variable          N      Mean     StDev   SE Mean

N98S10           50     95.05      9.27      1.31

Variable             95.0% CI            T      P

N98S10        (   92.42,   97.69)    -2.25  0.029

Two-Sample T-Test and CI: N100S10, N98S10

Two-sample T for N100S10 vs N98S10

          N      Mean     StDev   SE Mean

N100S10  50      97.4      10.2       1.4

N98S10   50     95.05      9.27       1.3

Difference = mu N100S10 - mu N98S10

Estimate for difference:  2.36

95% CI for difference: (-1.51, 6.24)

T-Test of difference = 0 (vs not =): T-Value = 1.21  P-Value = 0.229  DF = 97

Two-Sample T-Test and CI: N100S10, N98S10

Two-sample T for N100S10 vs N98S10

          N      Mean     StDev   SE Mean

N100S10  50      97.4      10.2       1.4

N98S10   50     95.05      9.27       1.3

Difference = mu N100S10 - mu N98S10

Estimate for difference:  2.36

95% lower bound for difference: -0.88

T-Test of difference = 0 (vs >): T-Value = 1.21  P-Value = 0.114  DF = 97

Setting up Proportion test for Normal Approximation to match book.

Test and CI for One Proportion

Test of p = 0.5 vs p not = 0.5

Sample      X      N  Sample p         95.0% CI       Z-Value  P-Value

1          40    100  0.400000  (0.303982, 0.496018)    -2.00    0.046

Test and CI for One Proportion

Test of p = 0.45 vs p not = 0.45

Sample      X      N  Sample p         95.0% CI       Z-Value  P-Value

1          40    100  0.400000  (0.303982, 0.496018)    -1.01    0.315

Test and CI for One Proportion

Test of p = 0.45 vs p < 0.45

Sample      X      N  Sample p  95.0% Upper Bound  Z-Value  P-Value

1          40    100  0.400000           0.480581    -1.01    0.157

Test and CI for One Proportion

Test of p = 0.45 vs p > 0.45

Sample      X      N  Sample p  95.0% Lower Bound  Z-Value  P-Value

1          40    100  0.400000           0.319419    -1.01    0.843

Test and CI for Two Proportions

Sample      X      N  Sample p

1          40    100  0.400000

2          30     80  0.375000

Estimate for p(1) - p(2):  0.025

95% CI for p(1) - p(2):  (-0.118087, 0.168087)

Test for p(1) - p(2) = 0 (vs not = 0):  Z = 0.34  P-Value = 0.732

Test and CI for Two Proportions

Sample      X      N  Sample p

1          40    100  0.400000

2          30     80  0.375000

Estimate for p(1) - p(2):  0.025

95% lower bound for p(1) - p(2):  -0.0950821

Test for p(1) - p(2) = 0 (vs > 0):  Z = 0.34  P-Value = 0.366

Regression Analysis: Score2 versus Score1

The regression equation is

Score2 = 1.12 + 0.218 Score1

Predictor        Coef     SE Coef          T        P

Constant       1.1177      0.1093      10.23    0.000

Score1        0.21767     0.01740      12.51    0.000

S = 0.1274      R-Sq = 95.7%     R-Sq(adj) = 95.1%

Analysis of Variance

Source            DF          SS          MS         F        P

Regression         1      2.5419      2.5419    156.56    0.000

Residual Error     7      0.1136      0.0162

Total              8      2.6556

Correlations: Score1, Score2

Pearson correlation of Score1 and Score2 = 0.978

P-Value = 0.000

Two-Sample T-Test and CI: Score1, Score2

Two-sample T for Score1 vs Score2

        N      Mean     StDev   SE Mean

Score1  9      5.79      2.59      0.86

Score2  9     2.378     0.576      0.19

Difference = mu Score1 - mu Score2

Estimate for difference:  3.411

95% lower bound for difference: 1.767

T-Test of difference = 0 (vs >): T-Value = 3.86  P-Value = 0.002  DF = 8

Paired T-Test and CI: Score1, Score2

Paired T for Score1 - Score2

                  N      Mean     StDev   SE Mean

Score1            9     5.789     2.590     0.863

Score2            9     2.378     0.576     0.192

Difference        9     3.411     2.029     0.676

95% CI for mean difference: (1.851, 4.971)

T-Test of mean difference = 0 (vs not = 0): T-Value = 5.04  P-Value = 0.001

Two-Sample T-Test and CI: Score1, Score2

Two-sample T for Score1 vs Score2

        N      Mean     StDev   SE Mean

Score1  9      5.79      2.59      0.86

Score2  9     2.378     0.576      0.19

Difference = mu Score1 - mu Score2

Estimate for difference:  3.411

95% lower bound for difference: 1.767

T-Test of difference = 0 (vs >): T-Value = 3.86  P-Value = 0.002  DF = 8

Regression Analysis: Score2 versus Score1

The regression equation is                             

Score2 = 1.11771 + 0.217670 Score1                     

S = 0.127419      R-Sq = 95.7 %      R-Sq(adj) = 95.1 %

Analysis of Variance

Source            DF         SS         MS         F      P

Regression         1    2.54191    2.54191   156.565  0.000

Error              7    0.11365    0.01624                 

Total              8    2.65556                            

Fitted Line Plot: Score2 versus Score1

Correlations: HeatFlux, East, South, North

       HeatFlux     East    South

East      0.102

          0.597

South     0.112   -0.329

          0.563    0.082

North    -0.849   -0.117    0.287

          0.000    0.545    0.131

Cell Contents: Pearson correlation

               P-Value

Regression Analysis: HeatFlux versus East, South, North

The regression equation is

HeatFlux = 389 + 2.12 East + 5.32 South - 24.1 North

Predictor        Coef     SE Coef          T        P

Constant       389.17       66.09       5.89    0.000

East            2.125       1.214       1.75    0.092

South          5.3185      0.9629       5.52    0.000

North         -24.132       1.869     -12.92    0.000

S = 8.598       R-Sq = 87.4%     R-Sq(adj) = 85.9%

Analysis of Variance

Source            DF          SS          MS         F        P

Regression         3     12833.9      4278.0     57.87    0.000

Residual Error    25      1848.1        73.9

Total             28     14681.9

Source       DF      Seq SS

East          1       153.8

South         1       349.5

North         1     12330.6

Regression Analysis: HeatFlux versus South, North

The regression equation is

HeatFlux = 484 + 4.80 South - 24.2 North

Predictor        Coef     SE Coef          T        P

Constant       483.67       39.57      12.22    0.000

South          4.7963      0.9511       5.04    0.000

North         -24.215       1.941     -12.48    0.000

S = 8.932       R-Sq = 85.9%     R-Sq(adj) = 84.8%

Analysis of Variance

Source            DF          SS          MS         F        P

Regression         2     12607.6      6303.8     79.01    0.000

Residual Error    26      2074.3        79.8

Total             28     14681.9

Source       DF      Seq SS

South         1       184.5

North         1     12423.1

Regression Analysis: HeatFlux versus North

The regression equation is                            

HeatFlux = 607.103 - 21.4025 North                    

S = 12.3277      R-Sq = 72.1 %      R-Sq(adj) = 71.0 %

Analysis of Variance

Source            DF         SS         MS         F      P

Regression         1    10578.7    10578.7   69.6094  0.000

Error             27     4103.2      152.0                 

Total             28    14681.9                            

Fitted Line Plot: HeatFlux versus North

Regression Analysis: HeatFlux versus South

The regression equation is                          

HeatFlux = 200.422 + 1.38521 South                  

S = 23.1720      R-Sq = 1.3 %      R-Sq(adj) = 0.0 %

Analysis of Variance

Source            DF         SS         MS         F      P

Regression         1      184.5    184.471  0.343557  0.563

Error             27    14497.5    536.943                 

Total             28    14681.9                            

Fitted Line Plot: HeatFlux versus South

Regression Analysis: HeatFlux versus East

The regression equation is                          

HeatFlux = 191.588 + 1.65402 East                   

S = 23.1965      R-Sq = 1.0 %      R-Sq(adj) = 0.0 %

Analysis of Variance

Source            DF         SS         MS         F      P

Regression         1      153.8    153.807  0.285845  0.597

Error             27    14528.1    538.079                 

Total             28    14681.9                            

Fitted Line Plot: HeatFlux versus East

Regression Analysis: EnergyConsum versus MachineSetti

The regression equation is                          

EnergyConsum = 1.24671 + 0.321821 MachineSetti      

S = 12.1825      R-Sq = 2.3 %      R-Sq(adj) = 0.0 %

Analysis of Variance

Source            DF         SS         MS         F      P

Regression         1      28.50     28.500  0.192029  0.673

Error              8    1187.31    148.414                 

Total              9    1215.81                            

Fitted Line Plot: EnergyConsum versus MachineSetti

Polynomial Regression Analysis: EnergyConsum versus MachineSetti

The regression equation is                            

EnergyConsum = 128.791 - 13.1062 MachineSetti         

 + 0.328936 MachineSetti**2                           

S = 6.00002      R-Sq = 79.3 %      R-Sq(adj) = 73.4 %

Analysis of Variance

Source            DF         SS         MS         F      P

Regression         2     963.81    481.904   13.3861  0.004

Error              7     252.00     36.000                 

Total              9    1215.81                            

Source      DF     Seq SS          F      P

Linear       1     28.500     0.1920  0.673

Quadratic    1    935.308    25.9806  0.001

Fitted Line Plot: EnergyConsum versus MachineSetti

Macro is running ... please wait

ANOM for ToxicLevel by Survival

One-way ANOVA: ToxicLevel versus Survival

Analysis of Variance for ToxicLev

Source     DF        SS        MS        F        P

Survival    2     934.7     467.4     8.05    0.001

Error      70    4065.1      58.1

Total      72    4999.8

                                   Individual 95% CIs For Mean

                                   Based on Pooled StDev

Level       N      Mean     StDev  ------+---------+---------+---------+

1          15    49.000     6.472                       (------*-----) 

2          46    44.005     8.096                  (--*---) 

3          12    37.167     6.935   (------*------) 

                                   ------+---------+---------+---------+

Pooled StDev =    7.621               36.0      42.0      48.0      54.0

Tukey's pairwise comparisons

    Family error rate = 0.0500

Individual error rate = 0.0192

Critical value = 3.39

Intervals for (column level mean) - (row level mean)

                 1           2

       2      -0.437

              10.426

       3       4.758       0.917

              18.908      12.760
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